
1

2

2

3

4

5

15

6

6

4

710

25

8

9

8

12

13

11

14

16

17

17

18

18

21

23

625010-00125 Valve Body 12

22

22

20

19

21

1 625011-001 Bracket, LF, Indicator/Valve 1
2 625014-002 Indicator Body 12
3 625014-003 Clip 26
4 625014-004 O-Ring 14
5 625015-002 Tee,Indicator 1
6 625016-002 End Cap 2
7 625014-005 Ball Retainer 12
8 625013-002 Valve Assembly 5/32 12
9 625024-001 Fitting, 1/4 NPT x 1/2 12
10 625014-007 Ball, Indicator 12
11 625025-001 Bolt, 1/4-20 x 3/4 SS 12
12 625026-001 Bolt, 1/4-20 x 1-3/4 SS 12
13 625027-001 Nut, 1/4" Flanged SS 12
14 625028-001 Washer, 1/4" SS 12
15 620163-001 Guage, 100 psi Liquid Filled 1
16 625021-001 Strainer Assembly, 80 Mesh 1
17 625023-001 Fitting, 1" NPT x 1 Hose Barbed 3
18 620135-001 Bracket, Mounting Enclosure 2
19 625037-001 Bolt, 1/2-13 x 1" Flanged 2

620114-001 Nut, 1/2-13 Flanged SS 220
710100-524 U-Bolt, 3/8-16 x 2"W x 3" Lg 421
620138-001 Nut, 3/8-16 Flanged 822

23 625030-001 Riser Tube 1
24 625014-006 Orfice, 3/32 Half Flow 2

JJG 10/19/04   Manifold Assembly
N-ject LF 1215 & 2425

  625105-001   D

A Production Release 10/19/04 JJG
B Change Valves 2/9/06 RDC
C 1/2-13 x 1 Bolt was x 2 11/9/07 RDC
D Redrawn in SolidWorks 11/16/12 BLS

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

MATERIAL

FINISH

UNLESS OTHERWISE SPECIFIED:

DO NOT SCALE DRAWING

INTERPRET GEOMETRIC
TOLERANCING PER:

Since 1893

CAPSTAN
Ag Systems, Inc.

®

SHEET 1 of 1

Qty

CAPSTAN AG SYSTEMS, INC.
101 N. KANSAS AVE., TOPEKA, KS 66603

QA APP

Checked

Drawn

DateName TITLE:

DWG No: REV

DescriptionPart NumberItem

B
None

SIZE

SCALE:

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

Rev Description Date By App


	Sheet1
	Drawing View1


